
ENERGY SUMMARY 
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             = Fxdx + Fydy + Fzdz   in u.v. notation

Wnet = ΔKE        (called the "work/energy theorem")
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Wdone by conservative force = −ΔU        

                            = − U2 − U1( )

 

Ugravity  near earth's surface = mgy   

      where 

Fg = − mg( ) ĵ and "y = 0" is your choice 

 

Uspring =
1
2

kx2    

     where 

Fsp = −kxî and "x = 0" at equilibrium        

conservation of energy:

    KE∑ at  point in time 1
+ U∑ at  point in time 1

+ W∑ extraneous between time 1 and time 2

                        = KE∑ at  point in time 2
+ U∑ at  point in time 2

 

                                                                OR
                                                               
                                                  E1 + W∑ extraneous

= E2     


